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KEEEZIER == vd KIS B2Kki5 ¥2TH #1TH F/EtATHE #6TH HiEE
o1 [—AHE &/ml 0 0 0 0 0 0 1mifp 1000 T
02 [KiFHE - T R3] R R3] ] R3] g
HO03 [HAFEHVLRUZDILEY mg/| - - - - - - 0.003 mg/ILLF
204 [KEBERUZDILEY mg/| - - - - — - 0.0005 mg/ILAF
Ho5 | ELVRUZDIEEY me/! - - - - — - 0.01 mg/ILATF
06 |SARUZDILEY mg/| - - - - — - 001 mg/IUTF
07 |ERRUZDIEEY mg/| - - - - - - 001 mg/IUTF
#o08 |AfEV/QLILEY mg/| - - - - - - 0.05 mg/ILLT
Hoo |FEHEBRERR mg/| 0.04 mg/ILUT
10 |7 RUEIS 7Y me/| - - - - — - 001 mg/IUTF
B |HERRE - BIHEAEE R me/| 0.9 1.7 1.6 1.1 12 16 10 mg/ILLF
12 |DVvRRUZDILEY mg/| - - — - - - 0.8 mg/ILUT
H13 [RORRUZDILED mg/| - - - - — - 1.0 mg/ILLF
14 (migibirER mg/| - - - - - - 0.002 mg/IAF
H15 [14-V 154y mg/I — - — - - - 0.05 mg/ILATF
g [AIEVIRIGRS - - - - - - 004 mg/ILT
rS2Z-1,2-Y"9AR1FLY

17 [yonAay mg/| - - - - - - 0.02 mg/IUATF
18 |FrZHYOOTFLY mg/| — — — - — - 0.01 mg/ILLF
H19 [F)pOOTIFLY mg/| — — — - — - 0.01 mg/ILLF
H20 |[RotEY mg/I - - — - - - 0.01 mg/ILATF
Hot |IEHEE mg/| - - - - - - 0.6 mg/IAF
22 |Y0OEFEE mg/I — - — - - - 0.02 mg/ILATF
#23 [yookiLL mg/| - - - - - - 0.06 mg/IUATF
24 [CHONEEE mg/| - - - - - - 0.03 mg/ILUTF
25 [CTOE/OOAZY mg/| - - - - - - 0.1 mg/IAF
26 |[RREE mg/| - - - - — - 0.01 mg/ILUTF
27 |#rYNOARY mg/| - - - - - - 0.1 mg/IAF
#28 |M) OO mg/| - - - - — - 0.03 mg/ILTF
#29 (JnES/AQAZY mg/| - - - - - - 0.03 mg/IUATF
#30 |TAERILL mg/| - - - - - - 0.09 mg/IUATF
31 [RILLTILTER mg/! - - - - - - 0.08 mg/IUATF
32 (FEHRUZDIEEY mg/| - - - - — - 1.0 mg/ILLF
H33 [FLIZHLRUZEDIEEY mg/! - - - - - - 0.2 mg/IAF
H34 | BRUZDIEEY mg/| - - - - — - 0.3 mg/ILAF
35 |IARVZDILEY mg/| - - - - — - 1.0 mg/ILLF
H36 |[FRIDLRUZDILED mg/I - - - - - - 200 mg/ILLTF
H37 |RUAVRUVEDIEEY mg/I - - - - - - 0.05 mg/ILLTF
H38 |IEemA14> mg/| 58.1 25.4 248 50.3 452 249 200 mg/ILLF
Ha6 | FEHME mg/| 1.0 0.9 10 10 10 10 3 mg/ILLTF
Ha7 |PHIE - 75 73 72 74 75 72 584 L86LLT
48 (ok - BELL B2ELL BELGL BEELL BELGL BEELL BETHRNIE
a9 |BR - BELGL BEELL BELGL B2ELL BELGL BEELL BETHRNIE
50 |BE : 3 1R 1R 1R 1R 1R 1R 5 ELUT
o1 |EAE I3 0.1k 0155 0.1k 015K 0.1k 015K 2 EUT
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